Name Date Period Class

Quaestio:

DAWN OF CIVILIZATION

Directions: Using the almost complete flow chart on the back of this sheet and your knowledge from
the textbook and other prior learning, answer the questions below.

1. What is a surplus?

2. How did people get FROM only being able to grow just enough crops to feed everyone TO
being able to produce a surplus of crops? Explain.

3. Why did surplus production lead to the growth of cities?

4. Why did surplus production lead to job specialization?

5. What job do you think was most important for society? Why?

6. On the flow chart, define Patriarchy and Social Stratification. Then, add arrows to show which
of any of the already-mentioned developments played a role in causing Patriarchy and/or
Social Stratification. Finally, explain below how the development of agriculture led to both.

Patriarchy Social Stratification




DAWN OF CIVILIZATION FLOW CHART

Neolithic Revolution: ]

River Valleys: Domesticated Plants & Animals
People in fertile

areas thrive with

agriculture Irrigation
Systems
s More Food
Pastoral \ Needed
Nomads:
People in .
less fertile Surplus Agricultural Product
areas stick
\_ toherding ) e
S q ; Population
ome 4o no Life gets Increases
have to be more
farmers complex /
Hungry /
nomads Urbanization
raid Merchants: o Growth of Cities
towns Conduct long- Specialization
and cities distance trade of Labor
J Artisans:
i, Create tools
and
N Soldiers: Rulers: Priests: weapons
Writing Protect from Maintain order Protect from
Invented human threats Collect taxes natural threats Spread of
Diseases
C | . Public Works:
G omp ext Scribes: Palaces, Temples,
overnments Record Irrigation Systems,
information ;
Trade Complex \ Citv Walls )
Religions
Networks 9
4 ) 4 )
Patriarchy Social Stratification




